Mid Term  
Name _______________________________

Multiple Choices (2.5*40=100)

.
An annuity that pays $5,000 each year for five years but at the beginning of each year.  Your interest rate = 4.5%. The price for the annuity = ?

a
$23,751

b.
$20,701

c.
$22,938

d.
$25,185


.
With $275,000 and 8.25% per year interest rate, how much could you withdraw for the next 20 years (by the end of each year)?

a.
$28,532

b.
$27,859

c.
$30,357

d.
$32,130


.
With $375,000, and 7.5% interest rate and withdraw $35,000 at the end of each year, starting at the end of this year, calculate how many years will it take to spend all of the money in your account?

a.
22.50

b.
23.13

c.
24.31

d.
26.15


.
What was the PV of the following cash flows using interest rate = 6.0%.
Years:
0
1
2
3
4


|
|
|
|
|

Cash Flows:
$0
$1,000
$2,000
$2,000
$2,000

a.
$5,987

b.
$6,276

c.
$6,505
d.
$6,730
 
.
Interest rate = 6.5%, calculate the future value of the following cash flows
Years:
0
1
2
3
4


|
|
|
|
|

Cash Flows:
$0
$75
$225
$0
$300

a.
$526.0

b.
$553.7
c.
$582.8

d.
$645.8 

.
What’s the FV (future value) of $1,500 after 5 years? Using interest rate = 6% and compounded semiannually (hint: each semiannual interest rate = 3%)?

a.
$1,831
b.
$1,924
c.
$2,016

d.
$2,108

.
What’s the FV (future value) of $1,200 after 5 years? Using interest rate = 6% and compounded monthly (hint: monthly interest rate = 0.5%)?

a. $1,514.67
b.
$1,618.62

c.
$1,690.53
d.
$1,771.35

.
What’s the PV (present value) of $1,525 discounted back 5 years? Using interest rate = 6% and compounded monthly (hint: monthly interest rate = 0.5%)?
a.
$971
b.
$1,021 
c.
$1,073
d.
$1,131


.
Bank pays a nominal rate on deposits of 4.50% (APR), with monthly compounding.  EAR (effective annual rate) = ?

a.
3.61%

b.
4.05%

c.
4.59%

d.
5.13%


.
The credit card APR (annual percentage rate) = 15.00% with monthly compounding. EAR (effective annual rate) = ?

a.
15.17%

b.
16.08%

c.
16.08%

d.
17.91%


.
You deposited $5,000 @ 5.25%, daily compounding (assume that 360-day a year).  After 8 months, how much would be in this account? Assuming 30 days each month?

a.
$5,178.09

b.
$5,536.71
c.
$5,608.49
d.
$5,794.51

.
You want to buy a shop for $250,000. Seller financing at a 6.0% annual rate for the four year loan but the loan requires 12 equal monthly payment each year for 4 years. And also, you need to make an additional balloon (final) payment of $50,000 which will be paid at the end of the last month.  The equal monthly payments = ? (hint: FV=50000)
a.
$4,029.14
b.
$4,947.01
c.
$4,464.38
d.
$4,699.27

.
You plan to invest $5,000 at the beginning of each month to an account that pays you 18% APR (annual percentage rate) compounded monthly. How many months does it take to see your account grow to $250,000?  Round up, please.
a.
25
b.
29
c.
33
d.
38


.
You plan to invest $3,000 at the end of each month to an account that pays you 7% APR (annual percentage rate) compounded monthly. How many months does it take to see your account grow to $150,000? Round up, please.

a.
39 
b.
44 
c.
48
d.
53 

.
You plan to make deposit $500 into a bank account for two years at the beginning of each month. You expect to have $13,000 in your account at the end of the 24th month. What is the nominal annual interest rate (APR) (consider monthly compounding)?

a.
7.62%

b.
8.04%

c.
8.41%

d.
8.87%


.
You expect to deposit $7,500 each year for the first six years (t = 1 through t = 6) and $15,000 annually for the following six years (t = 7 through t = 12). Also, you will deposit the first deposit a year from today.  Your grandfather just gave you a $25,000 gift and you will deposit immediately (t = 0).  If the account annual return = 9% compounded annually, how much will you have 12 years from now?

a.
$235,171
b.
$253,719
c.
$261,903
d.
$277,797


.
You have a 7-year loan of $25,000.  The borrower will pay $2,500 at the end of Year 1, $5,000 at the end of Year 2, and $7,500 at the end of Year 3, plus X at the end of each year from Year 4 through Year 7. X is the fixed but unspecified cash flow.  The loan’s rate is 8%.  What is X?
a.
$4,270.35
b.
$4,496.13
c.
$4,733.15

d.
$4,969.18

.
A bond  matures in 8 years, Par value = $1,000, and coupon annual interest payment = $65.  Yield to maturity of this bond is 8.2% (yield, or annual return).  What is the bond's price?

a.
$903.04
b.
$925.26
c.
$948.67
d.
$972.84

.
A bond has a 15-year maturity, a 7.25% semiannual coupon, and a par = $1,000.  The yield to maturity (rd) is 6.20%, and semiannual compounding.  What is the bond’s price?

a.
$1,047.91

b.
$1,074.50

c.
$1,101.58

d.
$1,129.21


.
Refer to the following table

Long-term debt (So 23,500 bond contract)
$23,500,000

Preferred stock of this firm

2,000,000

Common stock ($10 par)of this firm
10,000,000

Retained earnings of this firm
  4,000,000
Total debt and equity 

$39,500,000

7.0% coupon rate, payable semiannually, and a par = $1,000.  Bonds (long term debt) mature 10 years from today. The yield to maturity = 11%, so the bonds now sell < $1000, the par value. Calculate the current market value of the firm's debt (hint: use the price of the bond * 23500 to get the market value of the firm’s long term debt).

a.
$17,436,273
b.
$17,883,320

c.
$18,330,436
d.
$7,706,005

.
Bonds currently sell for $900, a 6-year maturity, and an annual coupon of $90, and par value = $1,000.  What is the current yield?

a.
10.00%

b.
11.50%

c.
9.88%

d.
12.27%


.
A bond makes an annual coupon interest payment of 7.5%.  The bonds have a par value = $1,000. The bond is selling for $1,430, and it will mature in 12 years.  The yield to maturity on these bonds=?

a.
3.11%

b.
3.14%

c.
3.17%

d.
3.19%


.
A stock is expected to pay a dividend of $0.75 at the end of the year.  The required rate of return is rs = 10.5%, and the expected constant growth rate is g = 6.4%.  The stock's market price = ?

a.
$17.31
b.
$17.85
c.
$18.29

d.
$18.78

.
A stock just paid a dividend of D0 = $1.  The required rate of return is rs = 10.1%, and the constant growth rate is g = 4.0%. The stock's market price = ?
a.
$23.19
b.
$23.07
c.
$14.21

d.
$17.05

.
A stock just paid a dividend of D0 = $1. If the expected growth rate for this stock = 4%, and investors' required rate of return = 11%, the stock's market price = ?


a.
$15.28

b.
$15.70

c.
$14.13

d.
$14.85

.
If D1 = $1.25, g (constant) = 4.7%, and P0 = $26.00, calculate the stock’s expected dividend yield for the coming year 
a.
4.21%

b.
4.43%

c.
4.37%

d.
4.84%


.
If D1 = $1.50, g (which is constant) = 6.5%, and P0 = $56, calculate the stock’s expected capital gains yield 
a.
6.50%

b.
6.48%

c.
7.27%

d.
7.53%


.
If D1 = $1, g (which is constant) = 5.5%, and P0 = $40, what is the stock’s expected total return for the coming year?

a.
7.51%

b.
8.73%

c.
7.93%

d.
8.00%


.
D1 = $1.25.  Po= $32.50 per share, and its required rate of return = 10.5%.  The dividend is expected to grow at constant rate, g, forever.  g = ?

a.
6.11%

b.
6.27%

c.
6.53%

d.
6.65%


.
Required rate of return = 11.5%, and Po = $25/share.  Dividend is expected to grow at a constant rate of 7%.  Calculate the last dividend, D0.
a.
$0.93
b.
$1.05

c.
$1.14
d.
$1.29

.
A stock has a required rate of return = 10.25%, and po = $57.50/ share.  The dividend will grow at a constant rate = 6.00% each year.  Calculate the expected year-end dividend, D1.
a.
$2.23
b.
$2.44

c.
$2.67
d.
$2.91

.
Expected year-end dividend D1 = $1.60, its required return rs = 11.00%, its dividend yield = 6.00%, and its growth rate will be constant in the future.  Calculate expected stock price in 7 years,
[image: image1.wmf]7

P

ˆ

= ?

a.
$37.52

b.
$39.42
c.
$41.39
d.
$43.47

.
Management expects dividends to grow at 25% for the next 4 years, after which the growth rate in dividends is zero, i.e., g = 0.  The company’s last dividend, D0, = $1.25, its return = 9.6%. The current price of the common stock = ? (Hint: calculate P4 the price at year 4 using g=0 in DCF, and then using NPV(rate, D1, D2, D3, D4+P4)
a.
$26.71
b.
$27.98
c.
$29.05

d.
$30.12

.
The Company's last dividend = $1.75.  Its dividend growth rate = 25% for 2 years, after which dividends will grow at a rate of 6% forever.  Its required return (rs) = 12%.  Calculate stock prices. (Hint: calculate P2 the price at year 2 using g=6% in DCF, and then using 


NPV(rate, D1, D2+P2)
a.
$41.85
b.
$42.64

c.
$43.17
d.
$44.08

.
Last dividend = $1.55.  The dividend growth rate will be constant 1.5% for 2 years, after which dividends will grow at 8.0% forever.  The firm's required return (rs) = 12.0%.  Calculate stock prices. (Hint: calculate P2 the price at year 2 using g=8% in DCF, and then using 


NPV(rate, D1, D2+P2)


a.
$37.05

b.
$38.61
c.
$39.03
d.
$40.84
36. A call provision let bondholders call for or demand for the repayment of the bond.  When interest rate rises, companies will call bonds. When interest rate falls, companies will not call the bonds. 

a.
True

b.
False

37. A bond makes a semi-annual coupon interest payment and the total annual coupon payment = 7.5%. The bonds have a par value = $1,000. The bond is selling for $1,430, and it will mature in 12 years.  The yield to maturity on these bonds=?

a.
3.11%

b.
3.14%

c.
3.17%

d.
3.19%

38.
A bond matures in 10 years and its yield to maturity = 4%, they pay interest semiannually, and they sell at a price of $975.  What is the bond's annual coupon rate?

a.
3.89%

b.
3.94%

c.
3.95%

d.
3.92%

39.
A bond matures in 10 years and its yield to maturity = 4%, they pay interest annually, and they sell at a price of $975.  What is the bond's annual coupon rate?

a.
3.89%

b.
3.94%

c.
3.95%0

d.
3.92%

40. A zero coupon bond has no value in it since there is no coupon payment. Investors should avoid this type of bond. .

a.
True

b.
False
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